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A & 0l & AF 2 E A A
20138 = S0A& SANLAILHISESH &H
S
AN HL(FELNSNL/RNSL AL
KW X 7 22l (SAHSALHSE3A) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SOt 12,354,328 109,189,010 A 96,834,682
BX W (2ELRNIMNL/RNSLE Al 10,544,881 107,344,768 A 96,799,887
EHXIDHE X 22l (SAINSEAMEBISEsAH) 514,969 314,107 200,862
XN X2 A 514,969 314,107 200,862
101 @124l 14,969 14,107 862
04 D12t 22 HEE = 14,969 14,107 862
O SXNLNT AZ SZHY o2
38,880% = 5% * 20€ 3,888
O DI=22EX &334 o2
38,880 * 3H * 20 2,333
O SRML X ABZA A2
38,880& * 3% * 5% x 15 8,748
401 AIEHI L 201 500,000 300,000 200,000
01 A& HI 496,400 297,840 198,560
O SXIMNLALS R 7 HHIZAH(THOHCHE 24 &)
100,000,000& * 5J4 4 * 99.28/100 496,400
03 Al S HHI 3,600 2,160 1,440
O SXINLALS X7 HHIZAH(THOH CHE 2+ )
100,000,000& * 5J4 4 = 0.72/100 3,600
SHEX ML (S ANLAISHI SE S H) 10,029,912 107,030,661 A 97,000,749
S SIS A 10,026,912 107,030,661 A 97,003,749
101 124 dl 14,912 15,661 AT49
04 JIZtHNZ22HEE+ 14,912 15,661 AT49
O BEA4HEFL AHHAMRE 22Y 13,712
o QI 39,780& * 18 * 5 » 52= 10,343
o ==+ 39,780 * 1H = 523 2,069
o BAYRET BXY EXNI
1,300,000 = 1H 1,300
O MIBEHZ(4UEE, LAXIQIYBE)
1,200,000 = 1H 1,200
203 YR =] 12,000 15,000 A 3,000
03 Al =AY R =& 12,000 15,000 A 3,000
O ZAIHEAE =& 12,000,000 * 14l 12,000
TAEHI &R0 10,000,000 107,000, 000 A 97,000,000
01 A& HI 9,834,000 105,407,086 N 95,573,086
O S3X 7 @XM ASHI
10,000,000,000& * 98.34/100 9,834,000
02 Zteltl 141,000 1,367,296 A 1,226,296
O SEXF SHIHL AL
10,000,000,000& * 1.41/100 141,000
03 AlE 2 THHI 25,000 225,618 A 200,618
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ST HIHE AL
10,000,000,000& * 0.25/100 25,000
([ N=Ns]] 3,000 0 3,000
801 Gl HI bl 3,000 0 3,000
01 olldldl 3,000 0 3,000
O oldidl 3,000,000& = 14 3,000
HYSAZH (SYML ) (IEH/IIEL) 209,447 194,242 15,205
AR2GHI(ZAINL AL HISE S AH) 93,698 88,957 4,741
224l 93,698 88,957 4,741
101 @124 Hl 93,698 88,957 4,741
03 RIAHAZZ2 T E =+ 93,698 88,957 4,741
AE AR 76,378
o JIEg 51,6503 = 3% = 260 40,287
o 03 40,287,000& = 4/12 13,429
o NAAZRLY(EDE)
9,684 * 3F * 18AI2F » 1204 & 6,276
o RSFII=E 51,6503 = 3F * 52 8,058
o AXREF/I=E 51,6508 » 3 » 202 3,099
o 2RI Z 13,429,000 * 3% = 10/100 4,029
o @A FItdl 200,000& = 3% = 23] 1,200
O MEEE 7,000,000& = 14! 7,000
O 2489 S L AEHZA S224
7,000& * 3% * 102 = 12942 2,520
O B4224 2HBZAF 22U A
20,0003 = 3H » 10& » 12013 7,200
O 24 22 dHZAD I=H (=, gat
=) 200,000& = 39 600
23 B(S AL AL BISE 3 AH) 115,749 105,285 10,464
JlE2&l 115,749 105,285 10,464
201 et 66,954 60,837 6,117
01 At 22l 62,382 56,775 5,607
O Let==3Hl SUAHL 34,742,0008 * 14 34,742
O I=Hl SHAH& 1,800,000& = 14l 1,800
O =gt sSdAH & 21,840,0008 * 14 21,840
O gxtz W& 4,000,000& * 14! 4,000
02 =224l 4,572 4,062 510
O 22222 & MA SHAHA
4,572,000& = 14 4,572
202 O4dl 48,795 38,948 9,847
01 = LH o4 1l 48,795 38,948 9,847
O BAN2E SUNHY 48,795,000& * 14! 48,795
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HH: WRES(SEHL) (2 ELNIML/TALZ A
Eel: BEENES(SANLAMEHISESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEES(SGMNLU)N(ZELXNSMNL/NALEZ Al 1,600,000 1,650,000 A50,000
SBEXNES(ZANLAISHISESIH) 1,600,000 1,650,000 A50,000
B&XE 1,600,000 1,650,000 A50,000
311 X+ 201 Xk &k & 350,000 400,000 250,000
02 Al - T - FXNENLII =X S0l Rtk 350,000 400,000 A 50,000
O SHYIMLAILY 83 & 201X (93] )
8,750,000,000& = 4/100 350,000
601 Xt S A S &2 1,250,000 1,250,000 0
02 Al -2 - FANGNLI S HL= =4 ,250,000 1,250,000 0
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